

## City of Lee's Summit

### **Change Order Details**

Hwy 50 Watermain Blackwell to Harris

**Description:** Installation of 8,703 feet of water main, valves, fittings, service

connections, connections to existing water mains, surface restoration along US Highway 50 from Blackwell to Harris,

including all materials, labor, equipment, testing, supervision, and any and all other items necessary to complete the work. Project

number 43631483 & 43731483. Purchase Order #118281.

**Change Order:** 3 **Date Created:** 03/20/2018

Status: Pending Approval Date Approved:

**Type:** City Council Approval **Summary:** Final Change order

**Change Order Description:** Items 4, 6, 18, 20, 23, and 33-C where adjusted for final field measured

quantities.

Item 34-C, 35-C, and 36-C were required for the Force Account work. The force account work consists of materials, labor, and machine costs which were involved in doing this work. The force account work was to simplify and clean up two connection points. Both would have left aged and unnecessary

infrastructure in place. Eliminating these older valves made a much cleaner

water system for Water Utilities.

Awarded Project Amount: \$623,225.18
Authorized Project Amount: \$648,006.24
Change Order Amount: \$39,549.93
Revised Project Amount: \$687,556.17

#### **Increases/Decreases**

Line Number	Item	Unit	Unit Price	Cui	rrent	Cha	nge	Re	vised
				Quantity	Amount	Quantity	Amount	Quantity	Amount
Section: 1 - De	fault S	Section							
<b>4</b> Water Main - 1 Reason: Balance			\$49.150 er	2,833.00	\$139,241.95	89.00	\$4,374.35	2,922.00	\$143,616.30
					Fundin	g Details			
		B	ackwell to Smart	2,833.00	\$139,241.95	89.00	\$4,374.35	2,922.00	\$143,616.30

Line Number Item Uni		Unit	Unit Price	Cu	rrent	Cha	nge	Rev	vised
				Quantity	Amount	Quantity	Amount	Quantity	Amount
6 Water Service Li Reason: Balancir		LF ange O	\$24.230 rder	50.00	\$1,211.50	23.00	\$557.29	73.00	\$1,768.79
					Fundin	g Details			
			Blackwell to Smart	40.00	\$969.20	15.00	\$363.45	55.00	\$1,332.65
			Smart to Harris	10.00	\$242.30	8.00	\$193.84	18.00	\$436.14
18 Water Main - Ber Reason: Balancir				3.00	\$2,767.44	-3.00	-\$2,767.44	0.00	\$0.00
					Fundin	g Details			
			Smart to Harris	3.00	\$2,767.44	-3.00	-\$2,767.44	0.00	\$0.00
<b>20</b> Driveways - Cond	20 crete	SY	\$68.960	115.00	\$7,930.40	26.70	\$1,841.23	141.70	\$9,771.63
					Fundin	g Details			
			Blackwell to Smart	115.00	\$7,930.40	26.70	\$1,841.23	141.70	\$9,771.63
23 Culvert - 36" CM Reason: Balancir		LF ange O	\$79.490 rder	20.00	\$1,589.80	16.00	\$1,271.84	36.00	\$2,861.64
					Fundin	g Details			
			Blackwell to Smart	20.00	\$1,589.80	16.00	\$1,271.84	36.00	\$2,861.64
0330 S FESCUE SOD Reason: Balancir	33-C ng Cha	SY ange O	\$7.880 rder	4,843.00	\$38,162.84	372.00	\$2,931.36	5,215.00	\$41,094.20
					Fundin	g Details			
			Blackwell to Smart	2,421.50	\$19,081.42	0.00	\$0.00	2,421.50	\$19,081.42
			Smart to Harris	2,421.50	\$19,081.42	372.00	\$2,931.36	2,793.50	\$22,012.78
(6 Items)			Totals		\$190,903.93		\$8,208.63		\$199,112.56

### **New Items**

Line Number	Item	Unit	<b>Pending Quantity</b>	Unit Price	<b>Dollar Amount</b>
Section: 1 - Default	Section				
<b>0340</b> Force Account Labor	34C	LS	1.00	\$10,513.880	\$10,513.88
	Fundin	g Details			
		Smart to Harris	1.00	\$10,513.880	+\$10,513.88
<b>0350</b> Force Account Equip	35C ment	LS	1.00	\$10,315.500	\$10,315.50
	Fundin	g Details			
		Smart to Harris	1.00	\$10,315.500	+\$10,315.50

Line Number	Item	Unit	<b>Pending Quantity</b>	Unit Price	<b>Dollar Amount</b>
<b>0360</b> Force Account Mate	36C erials	LS	1.00	\$10,511.920	\$10,511.92
	Fundir	ıg Details			
		Smart to Harris	1.00	\$10,511.920	+\$10,511.92
(3 Items)				Total:	+\$31,341.30

# **Funding Summary**

Fund Package	Original Amount	<b>Authorized Amount</b>	Pending Amount	<b>Revised Amount</b>
Blackwell to Smart Smart to Harris	\$275,733.78 \$347,491.40	\$281,433.42 \$366,572.82	+\$7,850.87 +\$31,699.06	\$289,284.29 \$398,271.88
(2 Fund Packages)	\$623,225.18	\$648,006.24	+\$39,549.93	\$687,556.17

Doc Express Document Signing History
Contract: Hwy 50 Watermain Blackwell to Harris Document: Force Account/Final Change order 3

This document is in the process of being signed by all required signatories using the Doc Express service. Following are the signatures that have occurred so far.

Date	Signed By
05/15/2018	Rodney Chaplin Miles Excavating Electronic Signature (Approved by Contractor)
	(Approved by Construction Manager)
	(Approved by Assistant Director of Engineering Services (WU))
	(Approved by Director of Water Utilities)
	(Approved as to Form, Office of the City Attorney)
	(Approved by City Manager)